OLD HWY 99N: WINCHESTER BRIDGE TO PLEASANT AVE. DOUGLAS COUNTY, OREGON

DOUGLAS COL								1	
PROJECT#	10968								
				FNGINEER'	S ESTIMATE	R&G EXCAV		CARTER & COMPANY, INC.	
	BID RESULTS			LITOITELIT	O LOTHWINTE	39300 MONT	GOMERY DR	4676 COMMERCIAL ST. SE #203	
						SCIO, OR 97374		SALEM, 0	OR 97302
BID OPENING:	2:00 PM 1/15/2015								
	ITEMS	UNIT	QNTY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1	Mobilization	LS	1	\$654,745.00	\$654,745.00	\$400,000.00	\$400,000.00	\$710,000.00	\$710,000.00
2	Temporary Protection And Direction Of Traffic	LS	1	\$130,949.00	\$130,949.00	\$60,000.00	\$60,000.00	\$126,700.00	\$126,700.00
3	Temporary Signs	SQFT	1,000	\$15.00	\$15,000.00	\$32.00	\$32,000.00	\$17.00	\$17,000.00
4	Temporary Barricades, Type III	EACH	20	\$175.00	\$3,500.00	\$300.00	\$6,000.00	\$100.00	\$2,000.00
5	Temporary Flexible Pavement Markers	EACH	1,000	\$0.75	\$750.00	\$1.00	\$1,000.00	\$2.00	\$2,000.00
6	Portable Changeable Message Signs	EACH	2	\$6,000.00	\$12,000.00	\$8,000.00	\$16,000.00	\$13,000.00	\$26,000.00
7	Flaggers	HOUR	5,000	\$42.00	\$210,000.00	\$55.00	\$275,000.00	\$42.00	\$210,000.00
8	Temporary Water Management Facility At Station 97+50	LS	1	\$15,000.00	\$15,000.00	\$21,000.00	\$21,000.00	\$25,000.00	\$25,000.00
9	Temporary Work Access and Containment	LS	1	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$35,000.00	\$35,000.00
10	Erosion Control	LS	1	\$7,500.00	\$7,500.00	\$8,000.00	\$8,000.00	\$13,000.00	\$13,000.00
11	Plastic Sheeting	SQYD	100	\$2.00	\$200.00	\$1.00	\$100.00	\$3.00	\$300.00
12	Matting, Type C	SQYD	280	\$5.00	\$1,400.00	\$1.00	\$280.00	\$3.50	\$980.00
13	Matting, Type E	SQYD	363	\$5.00	\$1,815.00	\$1.00	\$363.00	\$3.50	\$1,270.50
14	Compost Erosion Blanket	SQYD	4,812	\$4.00	\$19,248.00	\$1.00	\$4,812.00	\$3.75	\$18,045.00
15	Check Dam, Type 3	EACH	83	\$100.00	\$8,300.00	\$20.00	\$1,660.00	\$28.00	\$2,324.00
16	Sediment Fence	FOOT	245	\$4.00	\$980.00	\$2.00	\$490.00	\$2.50	\$612.50
17	Inlet Protection, Type 3	EACH	39	\$80.00	\$3,120.00	\$30.00	\$1,170.00	\$50.00	\$1,950.00
18	Inlet Protection, Type 4	EACH EACH	8 59	\$100.00	\$800.00	\$50.00	\$400.00	\$90.00	\$720.00
19 20	Inlet Protection, Type 10 Sediment Barrier, Type 3	FOOT	8,494	\$80.00 \$3.00	\$4,720.00 \$25,482.00	\$50.00 \$2.00	\$2,950.00 \$16,988.00	\$55.00 \$4.00	\$3,245.00 \$33,976.00
21	Straw Bales	EACH	10		\$25,482.00	\$2.00	\$16,988.00	\$4.00	\$33,976.00
22		LS	10	\$20.00	\$200.00		· · · · · · · · · · · · · · · · · · ·		
23	Pollution Control Plan Work Containment Plan And System	LS	1	\$500.00 \$1,500.00	\$500.00	\$5,000.00 \$5,000.00	\$5,000.00 \$5,000.00	\$1,200.00 \$2,000.00	\$1,200.00 \$2,000.00
24	Turbidity Monitoring	LS	1	\$2,000.00	\$2,000.00	\$6,000.00	\$6,000.00	\$2,000.00	\$2,000.00
25	Construction Survey Work	LS	1	\$98,212.00	\$98,212.00	\$89,000.00	\$89,000.00	\$100,000.00	\$100,000.00
26	Removal Of Structures And Obstructions	LS	1	\$15,000.00	\$15,000.00	\$10,000.00	\$10,000.00	\$45.000.00	\$45.000.00
27	Clearing And Grubbing	LS	1	\$5,500.00	\$5,500.00	\$50,000.00	\$50,000.00	\$30,000.00	\$30,000.00
28	General Excavation	CUYD	8,500	\$24.00	\$204,000.00	\$24.00	\$204,000.00	\$14.00	\$119,000.00
29	Ditch Excavation	CUYD	35	\$40.00	\$1,400.00	\$50.00	\$1,750.00	\$60.00	\$2,100.00
30	24 Inch Subgrade Stabilization	SQYD	6,000	\$15.00	\$90,000.00	\$30.00	\$180,000.00	\$35.00	\$210,000.00
31	Riprap Geotextile, Type 1	SQYD	120	\$3.00	\$360.00	\$1.00	\$120.00	\$2.00	\$240.00
32	Subgrade Geotextile	SQYD	12,000	\$1.20	\$14,400.00	\$0.30	\$3,600.00	\$1.00	\$12,000.00
33	Loose Riprap, Class 50	CUYD	500	\$50.00	\$25,000.00	\$36.00	\$18,000.00	\$50.00	\$25,000.00
34	Mainline Video Inspection	FOOT	4,720	\$1.00	\$4,720.00	\$2.00	\$9,440.00	\$2.50	\$11,800.00
35	4 Inch Drain Pipe	FOOT	430	\$40.00	\$17,200.00	\$40.00	\$17,200.00	\$34.00	\$14,620.00
36	8 Inch HDPE Sanitary Sewer Force Main Pipe	FOOT	8,950	\$46.00	\$411,700.00	\$49.00	\$438,550.00	\$46.00	\$411,700.00
37	14 Inch HDPE Sanitary Sewer Force Main Pipe	FOOT	9,000	\$88.00	\$792,000.00	\$64.00	\$576,000.00	\$60.00	\$540,000.00
38	8 Inch DI Sanitary Sewer Force Main Pipe	FOOT	150	\$100.00	\$15,000.00	\$75.00	\$11,250.00	\$82.00	\$12,300.00
39	14 Inch DI Sanitary Sewer Force Main Pipe	FOOT	265	\$150.00	\$39,750.00	\$106.00	\$28,090.00	\$120.00	\$31,800.00
40	8 Inch DI Sanitary Sewer Force Main Pipe, Across Bridge	FOOT	130	\$100.00	\$13,000.00	\$154.00	\$20,020.00	\$69.00	\$8,970.00
41	14 Inch DI Sanitary Sewer Force Main Pipe, Across Bridge	FOOT	150	\$150.00	\$22,500.00	\$184.00	\$27,600.00	\$172.00	\$25,800.00
42	18 Inch Sanitary Sewer Pipe, 10 Ft Depth	FOOT	125	\$100.00	\$12,500.00	\$217.00	\$27,125.00	\$86.00	\$10,750.00
43	18 Inch Sanitary Sewer Pipe, 20 Ft Depth	FOOT	150	\$150.00	\$22,500.00	\$420.00	\$63,000.00	\$124.00	\$18,600.00
44	Combination Air Release / Air Vacuum Valve	EACH	4	\$1,200.00	\$4,800.00	\$8,000.00	\$32,000.00	\$3,000.00	\$12,000.00
45	Combination Air Release / Air Vacuum Valve Assembly	EACH	2	\$3,500.00	\$7,000.00	\$7,000.00	\$14,000.00	\$9,000.00	\$18,000.00
46	8 Inch Storm Sewer Pipe, 5 Ft Depth	FOOT	25	\$60.00	\$1,500.00	\$60.00	\$1,500.00	\$50.00	\$1,250.00
47	12 Inch Storm Sewer Pipe, 5 Ft Depth	FOOT	1,450	\$85.00	\$123,250.00	\$69.00	\$100,050.00	\$40.00	\$58,000.00
						<u>-</u>		<u>-</u>	

40	18 Inch Storm Sewer Pipe, 5 Ft Depth	FOOT	775	\$100.00	\$77,500.00	\$80.00	\$62,000.00	\$68.00	\$52,700.00
48 49	18 Inch Storm Sewer Pipe, 5 Ft Depth	FOOT	775 2,000	\$100.00	\$230,000.00	\$80.00 \$156.00	\$312,000.00	\$66.00	\$132,000.00
50	24 Inch Storm Sewer Pipe, 10 Ft Depth	FOOT	80	\$160.00	\$12,800.00	\$180.00	\$14,400.00	\$93.00	\$7,440.00
51	36 Inch Sanitary Sewer Pipe, 10 Ft Depth	FOOT	85	\$170.00	\$12,800.00	\$200.00	\$17,000.00	\$111.00	\$9,435.00
52	42 Inch Storm Sewer Pipe, 10 Ft Depth	FOOT	300	\$200.00	\$60.000.00	\$200.00	\$66,600.00	\$134.00	\$40,200.00
53	Pipe Tees, 18 Inch	EACH	1	\$750.00	\$750.00	\$800.00	\$800.00	\$945.00	\$945.00
54	Pipe Tees, 24 Inch	EACH	1	\$1,250.00	\$1,250.00	\$1,000.00	\$1,000.00	\$600.00	\$600.00
55	12 Inch Force Main Connection to 12 Inch Existing Force Main	LS	1	\$1,250.00	\$10,000.00	\$1,000.00	\$1,000.00	\$15,500.00	\$15,500.00
56	Force Main Manifold Vault Assembly	LS	1	\$85,000.00	\$85,000.00	\$98,000.00	\$98,000.00	\$105,000.00	\$105,000.00
57	14 Inch Flow Meter Valve Vault	LS	1	\$90,000.00	\$90,000.00	\$174,000.00	\$174,000.00	\$185,000.00	\$185,000.00
58	Concrete Sanitary Sewer Manholes, Large Precast 60 Inch	EACH	3	\$9,000.00	\$27,000.00	\$5,300.00	\$174,000.00	\$4,900.00	\$14,700.00
59	Precast Polymer Concrete Manhole, 48 Inch	EACH	1	\$7,500.00	\$7,500.00	\$8,000.00	\$8,000.00	\$12,000.00	\$12,000.00
60	Precast Polymer Concrete Manhole, 46 Inch	EACH	1	\$10,500.00	\$10,500.00	\$8,000.00	\$8,000.00	\$12,000.00	\$12,000.00
61	Concrete Storm Sewer Manholes	EACH	7	\$5,500.00	\$38,500.00	\$2,500.00	\$17,500.00	\$4,000.00	\$28.000.00
62	Concrete Storm Sewer Manholes, Shallow	EACH	1	\$5,500.00	\$5,500.00	\$2,200.00	\$2,200.00	\$4,000.00	\$4,000.00
63	Concrete Storm Sewer Manholes, Snallow Concrete Storm Sewer Manholes, Large Precast 60 Inch	EACH	1	\$7,500.00	\$5,500.00	\$3,800.00	\$3,800.00	\$5,000.00	\$5,000.00
64	Concrete Storm Sewer Manholes, Large Precast 60 Inch	EACH	6	\$8,500.00	\$51,000.00	\$5,000.00	\$3,000.00	\$8,400.00	\$50,400.00
65		EACH	2	. ,				\$8,500.00	
66	Concrete Storm Sewer Manholes, Large Precast 84 Inch Concrete Manholes, Storm Sewer, Flow Control	EACH	1	\$9,750.00 \$12,500.00	\$19,500.00 \$12,500.00	\$5,700.00 \$5,000.00	\$11,400.00 \$5,000.00	\$12,500.00	\$17,000.00 \$12,500.00
67	Concrete Manholes, Storm Sewer, Flow Control Concrete Manholes, Storm Sewer, Split Flow Weir	EACH	2	\$9,000.00	\$12,500.00	\$4,300.00	\$8,600.00	\$12,500.00	\$12,500.00
68	Concrete Mannoles, Storm Sewer, Split Flow Weir Concrete Inlets, Type CG-2	EACH	21	\$2,000.00	\$42,000.00	\$1,800.00	\$8,600.00	\$2,300.00	\$48,300.00
		EACH							
69 70	Concrete Inlets, Type CG-3	EACH	23 4	\$2,500.00 \$2,500.00	\$57,500.00 \$10,000.00	\$1,900.00 \$1,800.00	\$43,700.00 \$7,200.00	\$2,300.00 \$2,500.00	\$52,900.00 \$10,000.00
70	Concrete Inlets, Type D	EACH	11	\$2,500.00	\$3,025.00	\$1,800.00	\$2,200.00	\$2,500.00 \$450.00	\$4,950.00
71	Adjusting Boxes Filling Abandoned Structures	EACH	2	\$275.00	\$3,025.00	\$200.00	\$2,200.00	\$2,000.00	\$4,950.00
	Minor Adjustment Of Manholes	EACH	5	\$1,200.00	\$2,400.00			\$2,000.00	\$4,000.00
73 74		EACH				\$200.00	\$1,000.00		
74 75	Major Adjustment Of Manholes	EACH	2	\$2,000.00	\$4,000.00	\$1,000.00	\$2,000.00	\$1,800.00 \$1,500.00	\$3,600.00
75 76	Extra for Manholes Over Existing Sewers Trench Resurfacing	SQYD	7,150	\$500.00 \$45.00	\$4,000.00 \$321,750.00	\$500.00 \$42.50	\$4,000.00 \$303,875.00	\$1,500.00	\$12,000.00 \$250,250.00
77	Bridge Removal Work	LS	1,150	\$23,700.00	\$23,700.00	\$36,000.00	\$36,000.00	\$20,000.00	\$20,000.00
78	Structure Excavation	LS	1	\$5,940.00	\$5,940.00	\$5,000.00	\$5,000.00	\$7,000.00	\$7,000.00
79	Granular Wall Backfill	LS	1	\$3,040.00	\$3,040.00	\$3,000.00	\$3,000.00	\$8,000.00	\$8,000.00
80		LS	1	\$30.000.00	\$3,040.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15.000.00
	Furnish Pile Driving Equipment Furnish PP 16 X 0.5 Steel Piles	FOOT	368	\$54.00	\$19,872.00	\$62.00	\$15,000.00	\$15,000.00	\$15,000.00
81 82		EACH						\$900.00	
	Drive PP 16 X 0.5 Steel Piles		16	\$1,200.00	\$19,200.00 \$2,800.00	\$650.00 \$250.00	\$10,400.00 \$4,000.00		\$14,400.00
83	Reinforced Pile Tips	EACH	16	\$175.00				\$300.00	\$4,800.00
84	Reinforcement	LS	1	\$20,125.00	\$20,125.00	\$30,000.00	\$30,000.00	\$18,000.00	\$18,000.00
85	General Structural Concrete, Class 3300	LS	1 224	\$87,500.00	\$87,500.00	\$72,000.00	\$72,000.00	\$70,000.00	\$70,000.00
86	Reinforced Concrete Bridge End Panels	SQYD		\$250.00	\$56,000.00	\$300.00	\$67,200.00	\$250.00	\$56,000.00
87	18 Inch Precast Prestressed Slabs	FOOT	504	\$220.00	\$110,880.00	\$240.00	\$120,960.00	\$240.00	\$120,960.00
88	Structural Steel Utility Brackets	LS LS	1	\$1,000.00	\$1,000.00	\$2,000.00	\$2,000.00	\$300.00	\$300.00
89 90	Combination Bridge Rail Bridge Removal Work	LS	1	\$43,500.00 \$16,380.00	\$43,500.00 \$16,380.00	\$16,000.00 \$36,000.00	\$16,000.00 \$36,000.00	\$52,000.00 \$20,000.00	\$52,000.00 \$20,000.00
90	Structure Excavation	LS		\$16,380.00 \$6,360.00	\$16,380.00 \$6,360.00	\$36,000.00 \$5,100.00	\$36,000.00	\$20,000.00	
			1						\$7,000.00
92	Granular Wall Backfill	LS		\$3,800.00	\$3,800.00	\$3,000.00	\$3,000.00	\$12,000.00	\$12,000.00
93	Furnish Drilling Equipment	LS	1	\$40,000.00	\$40,000.00 \$28,700.00	\$43,000.00	\$43,000.00	\$30,000.00	\$30,000.00
94	Furnish HP 14 X 117 Steel Piles	FOOT	350	\$82.00	,	\$85.00	\$29,750.00	\$69.00	\$24,150.00
95	Cast In Place Piles	EACH	14	\$8,500.00	\$119,000.00	\$6,000.00	\$84,000.00	\$6,000.00	\$84,000.00
96	Reinforcement	LS	1	\$25,900.00	\$25,900.00	\$27,000.00	\$27,000.00	\$25,000.00	\$25,000.00
97	General Structural Concrete, Class 3300	LS	1	\$88,900.00	\$88,900.00	\$70,000.00	\$70,000.00	\$70,000.00	\$70,000.00
98	Reinforced Concrete Bridge End Panels	SQYD	279	\$250.00	\$69,750.00	\$210.00	\$58,590.00	\$250.00	\$69,750.00
99	18 Inch Precast Prestressed Slabs	FOOT	628	\$220.00	\$138,160.00	\$240.00	\$150,720.00	\$240.00	\$150,720.00
100	Structural Steel Utility Brackets	LS	1	\$1,000.00	\$1,000.00	\$2,000.00	\$2,000.00	\$3,000.00	\$3,000.00
101	Combination Bridge Rail	LS	1	\$43,000.00	\$43,000.00	\$16,000.00	\$16,000.00	\$52,000.00	\$52,000.00
102	Retaining Wall, Prefabricated Modular Gravity	LS	1	\$35,750.00	\$35,750.00	\$32,000.00	\$32,000.00	\$30,000.00	\$30,000.00
103	Retaining Wall, Prefabricated Modular Gravity	LS	1	\$39,188.00	\$39,188.00	\$32,000.00	\$32,000.00	\$35,000.00	\$35,000.00
104	Cold Plane Pavement Removal, 0 - 2 Inches Deep	SQYD	9,000	\$1.25	\$11,250.00	\$3.00	\$27,000.00	\$3.50	\$31,500.00
105	Aggregate Base	TON	12,500	\$25.00	\$312,500.00	\$25.00	\$312,500.00	\$26.00	\$325,000.00

				TOTAL =	\$7,429,675.00	TOTAL -	\$7,045,897.00	TOTAL -	\$7,333,469.00
147	Remove and Relocate Bus Shelter	EACH	1	\$5,000.00	\$5,000.00	\$2,000.00	\$2,000.00	\$4,000.00	\$4,000.00
146	Streambed Enhancement	LS	1	\$60,000.00	\$60,000.00	\$60,000.00	\$60,000.00	\$60,000.00	\$60,000.00
145	Multiple Mailbox Supports	EACH	4	\$2,000.00	\$8,000.00	\$400.00	\$1,600.00	\$450.00	\$1,800.00
144	28 Foot X 96 Inch Double Gates	EACH	2	\$1,750.00	\$3,500.00	\$3,000.00	\$6,000.00	\$3,500.00	\$7,000.00
143	Type CL-6 Chain Link Fence	FOOT	430	\$28.00	\$12,040.00	\$35.00	\$15,050.00	\$24.00	\$10,320.00
142	Type CL-4 Chain Link Fence	FOOT	280	\$22.00	\$6,160.00	\$60.00	\$16,800.00	\$42.00	\$11,760.00
141	Plant Cuttings, Less Than 1 Inch	EACH	416	\$10.00	\$4,160.00	\$3.00	\$1,248.00	\$3.00	\$1,248.00
140	Topsoil	CUYD	50	\$60.00	\$3,000.00	\$40.00	\$2,000.00	\$60.00	\$3,000.00
139	Permanent Seeding, Mix No. 2	ACRE	0	\$8,000.00	\$560.00	\$14,000.00	\$980.00	\$14,000.00	\$980.00
138	Permanent Seeding, Mix No. 1	ACRE	1	\$6,000.00	\$4,800.00	\$3,000.00	\$2,400.00	\$3,000.00	\$2,400.00
137	Water Quality Structure, Contech CDS Model Number CDS2015-	LS	1	\$11,000.00	\$11,000.00	\$12,000.00	\$12,000.00	\$13,000.00	\$13,000.00
136	Water quality Structure, 8' X 11' Storm Filter Peak Diversion Vaul	LS	1	\$50,000.00	\$50,000.00	\$68,000.00	\$68,000.00	\$63,000.00	\$63,000.00
135	Water Wuality Structure, 96 Inch Storm Filter Manhole	LS	1	\$38,000.00	\$38,000.00	\$61,000.00	\$61,000.00	\$55,000.00	\$55,000.00
134	Water Quality Structure, 72 Inch Storm Filter Manhole	LS	1	\$27,000.00	\$27,000.00	\$40,000.00	\$40,000.00	\$35,000.00	\$35,000.00
133	Water Quality Structure, 48 Inch Storm Filter Manhole	LS	1	\$20,000.00	\$20,000.00	\$24,000.00	\$24,000.00	\$21,000.00	\$21,000.00
132	Water Quality Swale, 99-A	LS	1	\$12,000.00	\$12,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
131	Biodetention Basin, Strauss	LS	1	\$15,000.00	\$15,000.00	\$18,000.00	\$18,000.00	\$18,000.00	\$18,000.00
130	Biodetention Basin, 99-A	LS	1	\$7,500.00	\$7,500.00	\$8,400.00	\$8,400.00	\$12,000.00	\$12,000.00
129	Flashing Beacon Installation, Pleasant Ave	LS	1	\$15,000.00	\$15,000.00	\$10,000.00	\$10,000.00	\$21,000.00	\$21,000.00
128	Signs, Standard Sheeting, Sheet Aluminum	SQFT	35	\$25.00	\$875.00	\$20.00	\$700.00	\$25.00	\$875.00
127	Perforated Steel Square Tube Anchor Sign Supports	LS	1	\$20,000.00	\$20,000.00	\$2,500.00	\$2,500.00	\$8,000.00	\$8,000.00
126	Remove And Reinstall Existing Signs	LS	1	\$15.000.00	\$15,000.00	\$7,000.00	\$7,000.00	\$5,500.00	\$5,500.00
125	Pavement Bar, Type B-Hs	SQFT	350	\$9.00	\$3,150.00	\$9.00	\$3,150.00	\$8.50	\$2,975.00
124	Pavement Legend, Type B-Hs: Bicycle Lane Stencil	EACH	11	\$250.00	\$2,750.00	\$300.00	\$3,300.00	\$250.00	\$2,750.00
123	Pavement Legend, Type B: Arrows	EACH	4	\$250.00	\$1,000.00	\$300.00	\$1,200.00	\$250.00	\$1,000.00
122	Longitudinal Pavement Markings - Paint	FOOT	23,000	\$0.12	\$2,760.00	\$0.20	\$4,600.00	\$0.15	\$3,450.00
121	Impact Attenuator, Type E	EACH	4	\$7,500.00	\$30,000.00	\$27,000.00	\$108,000.00	\$23,000.00	\$92,000.00
120	Impact Attenuator, Type C	EACH	1	\$6,500.00	\$6,500.00	\$22,500.00	\$22,500.00	\$20,000.00	\$20,000.00
119	Guardrail Terminals, Non-Flared, Test Level 3	EACH	2	\$2,800.00	\$5,600.00	\$3,500.00	\$7,000.00	\$4,250.00	\$8,500.00
118	Guardrail Transition Guardrail Terminals, Non-Flared, Test Level 2	EACH	1	\$2,300.00	\$2,300.00	\$3,000.00	\$3,000.00	\$3,500.00	\$3,500.00
117	Guardrail Transition	EACH	3	\$2.500.00	\$7,500.00	\$3,500.00	\$10,500.00	\$3,750.00	\$11,250.00
116	31 Inch Guardrail, Type 3	FOOT	38	\$48.00	\$1,824.00	\$200.00	\$7,600.00	\$50.00	\$1,900.00
115	31 Inch Guardrail, Type 2A	FOOT	75	\$22.00	\$1,650.00	\$190.00	\$14,250.00	\$50.00	\$3,750.00
114	Concrete Bus Shelter Pads	EACH	1	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$1,500.00	\$1,500.00
113	Extra For Curb Ramps	EACH	26	\$2,000.00	\$52,000.00	\$1,500.00	\$39,000.00	\$2,300.00	\$59,800.00
112	Monolithic Concrete Walk With Wall	FOOT	35	\$100.00	\$3,500.00	\$300.00	\$10,500.00	\$260.00	\$9,100.00
111	Concrete Walks	SQFT	29,000	\$6.00	\$174,000.00	\$5.00	\$145,000.00	\$6.00	\$174,000.00
110	Concrete Driveways	SQFT	9,300	\$8.75	\$81,375.00	\$8.00	\$74,400.00	\$16.00	\$148,800.00
109	Concrete Curbs, Curb And Gutter	FOOT	10,250	\$22.00	\$225,500.00	\$16.00	\$164,000.00	\$28.00	\$287,000.00
108	Extra For Asphalt Approaches	EACH	39	\$500.00	\$19,500.00	\$1,200.00	\$46,800.00	\$1,500.00	\$58,500.00
106 107	Level 3, 1/2 Inch ACP Level 3, 1/2 Inch ACP In Leveling	TON	7,400 610	\$95.00 \$105.00	\$703,000.00 \$64,050.00	\$73.00 \$100.00	\$540,200.00 \$61,000.00	\$75.00 \$105.00	\$555,000.00 \$64.050.00

OLD HWY 99N: WINCHESTER BRIDGE TO PLEASANT AVE. DOUGLAS COUNTY, OREGON

DOUGLAS COL	JNTY, OREGON								
PROJECT #	10968								
						HP CIV	IL, INC.	LTM, INC. DBA KNIF	E RIVER MATERIALS
	BID RESULTS			ENGINEER'	S ESTIMATE	PO BO	•	•	X 1427
	DID RESOLTS								
DID 00511110	0.00 DM 4/45/0045					STAYTON,	OR 97383	ROSEBURG	G, OR 97470
BID OPENING :	2:00 PM 1/15/2015			LINIT PRICE TOTAL					
	ITEMS	UNIT	QNTY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1	Mobilization	LS	1	\$654,745.00	\$654,745.00	\$711,073.33	\$711,073.33	\$419,660.00	\$419,660.00
2	Temporary Protection And Direction Of Traffic	LS	1	\$130,949.00	\$130,949.00	\$150,000.00	\$150,000.00	\$155,000.00	\$155,000.00
3	Temporary Signs	SQFT	1,000	\$15.00	\$15,000.00	\$15.00	\$15,000.00	\$23.00	\$23,000.00
4	Temporary Barricades, Type III	EACH	20	\$175.00	\$3,500.00	\$150.00	\$3,000.00	\$85.00	\$1,700.00
5	Temporary Flexible Pavement Markers	EACH	1,000	\$0.75	\$750.00	\$5.00	\$5,000.00	\$1.00	\$1,000.00
6	Portable Changeable Message Signs	EACH	2	\$6,000.00	\$12,000.00	\$7,500.00	\$15,000.00	\$1,500.00	\$3,000.00
7	Flaggers	HOUR	5,000	\$42.00	\$210,000.00	\$43.00	\$215,000.00	\$46.25	\$231,250.00
8	Temporary Water Management Facility At Station 97+50	LS	1	\$15,000.00	\$15,000.00	\$25,000.00	\$25,000.00	\$20,000.00	\$20,000.00
9	Temporary Work Access and Containment	LS	1	\$10,000.00	\$10,000.00	\$30,000.00	\$30,000.00	\$13,000.00	\$13,000.00
10	Erosion Control	LS	1	\$7,500.00	\$7,500.00	\$500.00	\$500.00	\$3,500.00	\$3,500.00
11	Plastic Sheeting	SQYD	100	\$2.00	\$200.00	\$20.00	\$2,000.00	\$1.00	\$100.00
12	Matting, Type C	SQYD	280	\$5.00	\$1,400.00	\$4.00	\$1,120.00	\$3.50	\$980.00
13	Matting, Type E	SQYD	363	\$5.00	\$1,815.00	\$4.00	\$1,452.00	\$3.50	\$1,270.50
14	Compost Erosion Blanket	SQYD	4,812	\$4.00	\$19,248.00	\$4.00	\$19,248.00	\$3.95	\$19,007.40
15	Check Dam, Type 3	EACH	83	\$100.00	\$8,300.00	\$60.00	\$4,980.00	\$100.00	\$8,300.00
16	Sediment Fence	FOOT	245	\$4.00	\$980.00	\$12.00	\$2,940.00	\$5.00	\$1,225.00
17	Inlet Protection, Type 3	EACH	39	\$80.00	\$3,120.00	\$75.00	\$2,925.00	\$50.00	\$1,950.00
18	Inlet Protection, Type 4	EACH	8	\$100.00	\$800.00	\$75.00	\$600.00	\$50.00	\$400.00
19	Inlet Protection, Type 10	EACH	59	\$80.00	\$4,720.00	\$75.00	\$4,425.00	\$45.00	\$2,655.00
20	Sediment Barrier, Type 3	FOOT	8,494	\$3.00	\$25,482.00	\$4.00	\$33,976.00	\$3.75	\$31,852.50
21	Straw Bales	EACH	10	\$20.00	\$200.00	\$75.00	\$750.00	\$25.00	\$250.00
22	Pollution Control Plan	LS	1	\$500.00	\$500.00	\$50.00	\$50.00	\$500.00	\$500.00
23	Work Containment Plan And System	LS	1	\$1,500.00	\$1,500.00	\$500.00	\$500.00	\$13,000.00	\$13,000.00
24	Turbidity Monitoring	LS	1	\$2,000.00	\$2,000.00	\$10.00	\$10.00	\$5,000.00	\$5,000.00
25	Construction Survey Work	LS	1	\$98,212.00	\$98,212.00	\$405,000.00	\$405,000.00	\$61,000.00	\$61,000.00
26	Removal Of Structures And Obstructions	LS	1	\$15,000.00	\$15,000.00	\$20,000.00	\$20,000.00	\$45,000.00	\$45,000.00
27	Clearing And Grubbing	LS	1	\$5,500.00	\$5,500.00	\$70,000.00	\$70,000.00	\$5,000.00	\$5,000.00
28	General Excavation	CUYD	8,500	\$24.00	\$204,000.00	\$14.75	\$125,375.00	\$24.00	\$204,000.00
29	Ditch Excavation	CUYD	35	\$40.00	\$1,400.00	\$150.00	\$5,250.00	\$40.00	\$1,400.00
30	24 Inch Subgrade Stabilization	SQYD	6,000	\$15.00	\$90,000.00	\$30.00	\$180,000.00	\$34.00	\$204,000.00
31	Riprap Geotextile, Type 1	SQYD	120	\$3.00	\$360.00	\$2.50	\$300.00	\$3.00	\$360.00
32	Subgrade Geotextile	SQYD	12,000	\$1.20	\$14,400.00	\$1.50	\$18,000.00	\$1.00	\$12,000.00
33	Loose Riprap, Class 50	CUYD	500	\$50.00	\$25,000.00	\$55.00	\$27,500.00	\$55.00	\$27,500.00
34	Mainline Video Inspection	FOOT	4,720	\$1.00	\$4,720.00	\$4.00	\$18,880.00	\$3.50	\$16,520.00
35	4 Inch Drain Pipe	FOOT	430	\$40.00	\$17,200.00	\$35.00	\$15,050.00	\$25.00	\$10,750.00
36	8 Inch HDPE Sanitary Sewer Force Main Pipe	FOOT	8,950	\$46.00	\$411,700.00	\$45.00	\$402,750.00	\$42.00	\$375,900.00
37	14 Inch HDPE Sanitary Sewer Force Main Pipe	FOOT	9,000	\$88.00	\$792,000.00	\$60.00	\$540,000.00	\$65.00	\$585,000.00
38	8 Inch DI Sanitary Sewer Force Main Pipe	FOOT	150	\$100.00	\$15,000.00	\$85.00	\$12,750.00	\$105.00	\$15,750.00
39	14 Inch DI Sanitary Sewer Force Main Pipe	FOOT	265	\$150.00	\$39,750.00	\$120.00	\$31,800.00	\$125.00	\$33,125.00
40	8 Inch DI Sanitary Sewer Force Main Pipe, Across Bridge	FOOT	130	\$100.00	\$13,000.00	\$125.00	\$16,250.00	\$135.00	\$17,550.00
41	14 Inch DI Sanitary Sewer Force Main Pipe, Across Bridge	FOOT	150	\$150.00	\$22,500.00	\$225.00	\$33,750.00	\$200.00	\$30,000.00
42	18 Inch Sanitary Sewer Pipe, 10 Ft Depth	FOOT	125	\$100.00	\$12,500.00	\$90.00	\$11,250.00	\$135.00	\$16,875.00
43	18 Inch Sanitary Sewer Pipe, 20 Ft Depth	FOOT	150	\$150.00	\$22,500.00	\$125.00	\$18,750.00	\$145.00	\$21,750.00
44	Combination Air Release / Air Vacuum Valve	EACH	4	\$1,200.00	\$4,800.00	\$3,000.00	\$12,000.00	\$3,000.00	\$12,000.00
45	Combination Air Release / Air Vacuum Valve Assembly	EACH	2	\$3,500.00	\$7,000.00	\$9,500.00	\$19,000.00	\$12,000.00	\$24,000.00
46	8 Inch Storm Sewer Pipe, 5 Ft Depth	FOOT	25	\$60.00	\$1,500.00	\$50.00	\$1,250.00	\$30.00	\$750.00
47	12 Inch Storm Sewer Pipe, 5 Ft Depth	FOOT	1,450	\$85.00	\$123,250.00	\$40.00	\$58,000.00	\$57.00	\$82,650.00
							•		

48	18 Inch Storm Sewer Pipe, 5 Ft Depth	FOOT	775	\$100.00	\$77,500.00	\$70.00	\$54,250.00	\$90.00	\$69,750.00
48	18 Inch Storm Sewer Pipe, 5 Ft Depth	FOOT	2,000	\$100.00 \$115.00	\$230,000.00	\$65.00	\$130,000.00	\$100.00	\$200,000.00
50	24 Inch Storm Sewer Pipe, 10 Ft Depth	FOOT	80	\$160.00	\$12,800.00	\$95.00	\$7,600.00	\$105.00	\$8,400.00
51	36 Inch Sanitary Sewer Pipe, 10 Ft Depth	FOOT	85	\$170.00	\$12,800.00	\$110.00	\$9,350.00	\$155.00	\$13,175.00
52	42 Inch Storm Sewer Pipe, 10 Ft Depth	FOOT	300	\$200.00	\$60.000.00	\$130.00	\$39,000.00	\$188.00	\$56,400.00
53	Pipe Tees, 18 Inch	EACH	1	\$750.00	\$750.00	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00
54	Pipe Tees, 24 Inch	EACH	1	\$1,250.00	\$1,250.00	\$600.00	\$600.00	\$1,500.00	\$1,500.00
	1 /							\$34,000.00	
55	12 Inch Force Main Connection to 12 Inch Existing Force Main	LS	1 4	\$10,000.00	\$10,000.00	\$15,000.00	\$15,000.00	. ,	\$34,000.00
56 57	Force Main Manifold Vault Assembly	LS LS	1	\$85,000.00	\$85,000.00	\$100,000.00	\$100,000.00	\$120,000.00	\$120,000.00
	14 Inch Flow Meter Valve Vault		1	\$90,000.00	\$90,000.00	\$185,000.00	\$185,000.00	\$220,000.00	\$220,000.00
58	Concrete Sanitary Sewer Manholes, Large Precast 60 Inch	EACH	3	\$9,000.00	\$27,000.00	\$5,000.00	\$15,000.00	\$23,000.00	\$69,000.00
59	Precast Polymer Concrete Manhole, 48 Inch	EACH	1	\$7,500.00	\$7,500.00	\$12,000.00	\$12,000.00	\$22,800.00	\$22,800.00
60	Precast Polymer Concrete Manhole, 60 Inch	EACH	1	\$10,500.00	\$10,500.00	\$12,000.00	\$12,000.00	\$21,700.00	\$21,700.00
61	Concrete Storm Sewer Manholes	EACH	7	\$5,500.00	\$38,500.00	\$3,500.00	\$24,500.00	\$4,500.00	\$31,500.00
62	Concrete Storm Sewer Manholes, Shallow	EACH	1	\$5,500.00	\$5,500.00	\$3,500.00	\$3,500.00	\$4,000.00	\$4,000.00
63	Concrete Storm Sewer Manholes, Large Precast 60 Inch	EACH	1	\$7,500.00	\$7,500.00	\$5,000.00	\$5,000.00	\$8,600.00	\$8,600.00
64	Concrete Storm Sewer Manholes, Large Precast 72 Inch	EACH	6	\$8,500.00	\$51,000.00	\$8,500.00	\$51,000.00	\$10,000.00	\$60,000.00
65	Concrete Storm Sewer Manholes, Large Precast 84 Inch	EACH	2	\$9,750.00	\$19,500.00	\$9,000.00	\$18,000.00	\$11,200.00	\$22,400.00
66	Concrete Manholes, Storm Sewer, Flow Control	EACH	1	\$12,500.00	\$12,500.00	\$13,500.00	\$13,500.00	\$20,000.00	\$20,000.00
67	Concrete Manholes, Storm Sewer, Split Flow Weir	EACH	2	\$9,000.00	\$18,000.00	\$15,000.00	\$30,000.00	\$8,500.00	\$17,000.00
68	Concrete Inlets, Type CG-2	EACH	21	\$2,000.00	\$42,000.00	\$1,800.00	\$37,800.00	\$2,500.00	\$52,500.00
69	Concrete Inlets, Type CG-3	EACH	23	\$2,500.00	\$57,500.00	\$1,900.00	\$43,700.00	\$2,600.00	\$59,800.00
70	Concrete Inlets, Type D	EACH	4	\$2,500.00	\$10,000.00	\$2,000.00	\$8,000.00	\$2,000.00	\$8,000.00
71	Adjusting Boxes	EACH	11	\$275.00	\$3,025.00	\$400.00	\$4,400.00	\$380.00	\$4,180.00
72	Filling Abandoned Structures	EACH	2	\$1,200.00	\$2,400.00	\$2,000.00	\$4,000.00	\$2,000.00	\$4,000.00
73	Minor Adjustment Of Manholes	EACH	5	\$500.00	\$2,500.00	\$1,000.00	\$5,000.00	\$1,000.00	\$5,000.00
74	Major Adjustment Of Manholes	EACH	2	\$2,000.00	\$4,000.00	\$1,500.00	\$3,000.00	\$2,100.00	\$4,200.00
75	Extra for Manholes Over Existing Sewers	EACH	8	\$500.00	\$4,000.00	\$10,000.00	\$80,000.00	\$350.00	\$2,800.00
76	Trench Resurfacing	SQYD	7,150	\$45.00	\$321,750.00	\$30.00	\$214,500.00	\$58.00	\$414,700.00
77	Bridge Removal Work	LS	1	\$23,700.00	\$23,700.00	\$50,000.00	\$50,000.00	\$20,160.00	\$20,160.00
78	Structure Excavation	LS	1	\$5,940.00	\$5,940.00	\$20,000.00	\$20,000.00	\$4,800.00	\$4,800.00
79	Granular Wall Backfill	LS	1	\$3,040.00	\$3,040.00	\$10,000.00	\$10,000.00	\$2,800.00	\$2,800.00
80	Furnish Pile Driving Equipment	LS	1	\$30,000.00	\$30,000.00	\$15,000.00	\$15,000.00	\$20,000.00	\$20,000.00
81	Furnish PP 16 X 0.5 Steel Piles	FOOT	368	\$54.00	\$19,872.00	\$60.00	\$22,080.00	\$61.00	\$22,448.00
82	Drive PP 16 X 0.5 Steel Piles	EACH	16	\$1,200.00	\$19,200.00	\$1,000.00	\$16,000.00	\$900.00	\$14,400.00
83	Reinforced Pile Tips	EACH	16	\$175.00	\$2,800.00	\$200.00	\$3,200.00	\$250.00	\$4,000.00
84	Reinforcement	LS	1	\$20,125.00	\$20,125.00	\$20,000.00	\$20,000.00	\$17,000.00	\$17,000.00
85	General Structural Concrete, Class 3300	LS	1	\$87,500.00	\$87,500.00	\$100,000.00	\$100,000.00	\$60,000.00	\$60,000.00
86	Reinforced Concrete Bridge End Panels	SQYD	224	\$250.00	\$56,000.00	\$265.00	\$59,360.00	\$225.00	\$50,400.00
87	18 Inch Precast Prestressed Slabs	FOOT	504	\$220.00	\$110,880.00	\$250.00	\$126,000.00	\$225.00	\$113,400.00
88	Structural Steel Utility Brackets	LS	1	\$1,000.00	\$1,000.00	\$4,000.00	\$4,000.00	\$4,100.00	\$4,100.00
89	Combination Bridge Rail	LS	1	\$43,500.00	\$43,500.00	\$85,000.00	\$85,000.00	\$28,000.00	\$28,000.00
90	Bridge Removal Work	LS	1	\$16,380.00	\$16,380.00	\$50,000.00	\$50,000.00	\$40,500.00	\$40,500.00
91	Structure Excavation	LS	1	\$6,360.00	\$6,360.00	\$20,000.00	\$20,000.00	\$5,800.00	\$5,800.00
92	Granular Wall Backfill	LS	1	\$3,800.00	\$3,800.00	\$10,000.00	\$10,000.00	\$4,200.00	\$4,200.00
93	Furnish Drilling Equipment	LS	1	\$40,000.00	\$40,000.00	\$50,000.00	\$50,000.00	\$27,000.00	\$27,000.00
94	Furnish HP 14 X 117 Steel Piles	FOOT	350	\$82.00	\$28.700.00	\$66.00	\$23,100.00	\$64.00	\$22,400.00
95	Cast In Place Piles	EACH	14	\$8,500.00	\$119,000.00	\$6,500.00	\$91,000.00	\$6,700.00	\$93,800.00
96	Reinforcement	LS	1	\$25,900.00	\$25,900.00	\$25,000.00	\$25,000.00	\$22,000.00	\$22,000.00
97	General Structural Concrete, Class 3300	LS	1	\$88,900.00	\$88,900.00	\$80,000.00	\$80,000.00	\$61,000.00	\$61,000.00
98	Reinforced Concrete Bridge End Panels	SQYD	279	\$250.00	\$69,750.00	\$225.00	\$62,775.00	\$225.00	\$62,775.00
99	18 Inch Precast Prestressed Slabs	FOOT	628	\$230.00	\$138,160.00	\$235.00	\$147,580.00	\$220.00	\$138,160.00
100	Structural Steel Utility Brackets	LS	1	\$1,000.00	\$1,000.00	\$4,000.00	\$4,000.00	\$4,100.00	\$4,100.00
101	Combination Bridge Rail	LS	1	\$1,000.00	\$43,000.00	\$4,000.00	\$4,000.00	\$4,100.00	\$30,000.00
								. ,	
102	Retaining Wall, Prefabricated Modular Gravity	LS	1	\$35,750.00	\$35,750.00	\$35,000.00	\$35,000.00	\$25,000.00	\$25,000.00
103	Retaining Wall, Prefabricated Modular Gravity	LS	1 0.000	\$39,188.00	\$39,188.00	\$35,000.00	\$35,000.00	\$31,000.00	\$31,000.00
104 105	Cold Plane Pavement Removal, 0 - 2 Inches Deep	SQYD	9,000	\$1.25	\$11,250.00	\$3.00	\$27,000.00	\$4.00	\$36,000.00
	Aggregate Base	TON	12,500	\$25.00	\$312,500.00	\$20.00	\$250,000.00	\$35.00	\$437,500.00

106	Level 3, 1/2 Inch ACP	TON	7,400	\$95.00	\$703,000.00	\$67.00	\$495,800.00	\$93.70	\$693,380.00
107	Level 3, 1/2 Inch ACP In Leveling	TON	610	\$105.00	\$64,050.00	\$100.00	\$61,000.00	\$89.45	\$54,564.50
108	Extra For Asphalt Approaches	EACH	39	\$500.00	\$19,500.00	\$1,200.00	\$46,800.00	\$1,100.00	\$42,900.00
109	Concrete Curbs, Curb And Gutter	FOOT	10,250	\$22.00	\$225,500.00	\$16.00	\$164,000.00	\$15.00	\$153,750.00
110	Concrete Driveways	SQFT	9,300	\$8.75	\$81,375.00	\$7.67	\$71,331.00	\$6.50	\$60,450.00
111	Concrete Walks	SQFT	29,000	\$6.00	\$174,000.00	\$5.00	\$145,000.00	\$4.30	\$124,700.00
112	Monolithic Concrete Walk With Wall	FOOT	35	\$100.00	\$3,500.00	\$210.00	\$7,350.00	\$200.00	\$7,000.00
113	Extra For Curb Ramps	EACH	26	\$2,000.00	\$52,000.00	\$1,400.00	\$36,400.00	\$1,500.00	\$39,000.00
114	Concrete Bus Shelter Pads	EACH	1	\$2,500.00	\$2,500.00	\$2,300.00	\$2,300.00	\$2,200.00	\$2,200.00
115	31 Inch Guardrail, Type 2A	FOOT	75	\$22.00	\$1,650.00	\$50.00	\$3,750.00	\$25.00	\$1,875.00
116	31 Inch Guardrail, Type 3	FOOT	38	\$48.00	\$1,824.00	\$50.00	\$1,900.00	\$60.00	\$2,280.00
117	Guardrail Transition	EACH	3	\$2,500.00	\$7,500.00	\$3,800.00	\$11,400.00	\$3,100.00	\$9,300.00
118	Guardrail Terminals, Non-Flared, Test Level 2	EACH	1	\$2,300.00	\$2,300.00	\$3,500.00	\$3,500.00	\$2,700.00	\$2,700.00
119	Guardrail Terminals, Non-Flared, Test Level 3	EACH	2	\$2,800.00	\$5,600.00	\$4,250.00	\$8,500.00	\$3,200.00	\$6,400.00
120	Impact Attenuator, Type C	EACH	1	\$6,500.00	\$6,500.00	\$15,500.00	\$15,500.00	\$24,000.00	\$24,000.00
121	Impact Attenuator, Type E	EACH	4	\$7,500.00	\$30,000.00	\$19,500.00	\$78,000.00	\$26,500.00	\$106,000.00
122	Longitudinal Pavement Markings - Paint	FOOT	23,000	\$0.12	\$2,760.00	\$0.30	\$6,900.00	\$0.15	\$3,450.00
123	Pavement Legend, Type B: Arrows	EACH	4	\$250.00	\$1,000.00	\$500.00	\$2,000.00	\$250.00	\$1,000.00
124	Pavement Legend, Type B-Hs: Bicycle Lane Stencil	EACH	11	\$250.00	\$2,750.00	\$500.00	\$5,500.00	\$250.00	\$2,750.00
125	Pavement Bar, Type B-Hs	SQFT	350	\$9.00	\$3,150.00	\$9.00	\$3,150.00	\$9.00	\$3,150.00
126	Remove And Reinstall Existing Signs	LS	1	\$15,000.00	\$15,000.00	\$5,500.00	\$5,500.00	\$1,900.00	\$1,900.00
127	Perforated Steel Square Tube Anchor Sign Supports	LS	1	\$20,000.00	\$20,000.00	\$8,000.00	\$8,000.00	\$5,000.00	\$5,000.00
128	Signs, Standard Sheeting, Sheet Aluminum	SQFT	35	\$25.00	\$875.00	\$25.00	\$875.00	\$22.00	\$770.00
129	Flashing Beacon Installation, Pleasant Ave	LS	1	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$17,000.00	\$17,000.00
130	Biodetention Basin, 99-A	LS	1	\$7,500.00	\$7,500.00	\$6,500.00	\$6,500.00	\$10,500.00	\$10,500.00
131	Biodetention Basin, Strauss	LS	1	\$15,000.00	\$15,000.00	\$10,000.00	\$10,000.00	\$20,000.00	\$20,000.00
132	Water Quality Swale, 99-A	LS	1	\$12,000.00	\$12,000.00	\$20,000.00	\$20,000.00	\$12,500.00	\$12,500.00
133	Water Quality Structure, 48 Inch Storm Filter Manhole	LS	1	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$23,000.00	\$23,000.00
134	Water Quality Structure, 72 Inch Storm Filter Manhole	LS	1	\$27,000.00	\$27,000.00	\$35,000.00	\$35,000.00	\$44,500.00	\$44,500.00
135	Water Wuality Structure, 96 Inch Storm Filter Manhole	LS	1	\$38,000.00	\$38,000.00	\$53,500.00	\$53,500.00	\$66,500.00	\$66,500.00
136	Water quality Structure, 8' X 11' Storm Filter Peak Diversion Vault	LS	1	\$50,000.00	\$50,000.00	\$61,000.00	\$61,000.00	\$74,000.00	\$74,000.00
137	Water Quality Structure, Contech CDS Model Number CDS2015-	LS	1	\$11,000.00	\$11,000.00	\$12,500.00	\$12,500.00	\$22,000.00	\$22,000.00
138	Permanent Seeding, Mix No. 1	ACRE	1	\$6,000.00	\$4,800.00	\$3,000.00	\$2,400.00	\$3,000.00	\$2,400.00
139	Permanent Seeding, Mix No. 2	ACRE	0	\$8,000.00	\$560.00	\$15,000.00	\$1,050.00	\$14,000.00	\$980.00
140	Topsoil	CUYD	50	\$60.00	\$3,000.00	\$105.00	\$5,250.00	\$125.00	\$6,250.00
141	Plant Cuttings, Less Than 1 Inch	EACH	416	\$10.00	\$4,160.00	\$3.00	\$1,248.00	\$3.00	\$1,248.00
142	Type CL-4 Chain Link Fence	FOOT	280	\$22.00	\$6,160.00	\$42.00	\$11,760.00	\$45.00	\$12,600.00
143	Type CL-6 Chain Link Fence	FOOT	430	\$28.00	\$12,040.00	\$24.00	\$10,320.00	\$30.00	\$12,900.00
144	28 Foot X 96 Inch Double Gates	EACH	2	\$1,750.00	\$3,500.00	\$3,500.00	\$7,000.00	\$3,800.00	\$7,600.00
145	Multiple Mailbox Supports	EACH	4	\$2,000.00	\$8,000.00	\$500.00	\$2,000.00	\$550.00	\$2,200.00
146	Streambed Enhancement	LS	1	\$60,000.00	\$60,000.00	\$85,000.00	\$85,000.00	\$86,000.00	\$86,000.00
147	Remove and Relocate Bus Shelter	EACH	1	\$5,000.00	\$5,000.00	\$3,500.00	\$3,500.00	\$2,600.00	\$2,600.00
				TOTAL =	\$7,429,675.00	TOTAL -	\$7,410,233.33	TOTAL -	\$7,493,425.9

OLD HWY 99N: WINCHESTER BRIDGE TO PLEASANT AVE. DOUGLAS COUNTY, OREGON

DOUGLAS COU	INTY, OREGON								
PROJECT#	10968								
				i					
						KERR CONTRACTO	ORS OREGON, INC.	LEGACY CONT	RACTING, INC.
	BID RESULTS			ENGINEER"	S ESTIMATE	РО ВО	X 1060	41850 KINGSTO	ON JORDAN RD.
	2.2 1.2002.0			i		WOODBURN, OR 97071			
BID OPENING .	2:00 PM 1/15/2015					WOODBOKI	V, OK 97071	STAYTON, OR 97383	
BID OF ENTING .	ITEMS	UNIT	QNTY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1	Mobilization	LS	1	\$654,745.00	\$654,745.00	\$750,700.00	\$750,700.00	\$835,000.00	\$835,000.00
2	Temporary Protection And Direction Of Traffic	LS	1	\$130.949.00	\$130.949.00	\$79,100.00	\$79,100.00	\$34.755.00	\$34,755.00
3	Temporary Signs	SQFT	1,000	\$15.00	\$15,000.00	\$12.00	\$12,000.00	\$23.50	\$23,500.00
4	Temporary Barricades, Type III	EACH	20	\$175.00	\$3,500.00	\$150.00	\$3,000.00	\$145.00	\$2,900.00
5	Temporary Flexible Pavement Markers	EACH	1.000	\$0.75	\$750.00	\$0.50	\$5,000.00	\$1.50	\$1,500.00
6	Portable Changeable Message Signs	EACH	2	\$6,000.00	\$12,000.00	\$10,000.00	\$20,000.00	\$2,800.00	\$5,600.00
7	Flaggers	HOUR	5,000	\$42.00	\$210,000.00	\$54.00	\$270,000.00	\$43.75	\$218,750.00
8	Temporary Water Management Facility At Station 97+50	LS	1	\$15,000.00	\$15.000.00	\$33,650.00	\$33.650.00	\$28,365.00	\$28,365.00
9	Temporary Work Access and Containment	LS	1	\$10,000.00	\$10,000.00	\$25,000.00	\$25,000.00	\$22,755.00	\$22,755.00
10	Erosion Control	LS	1	\$7,500.00	\$7,500.00	\$58,600.00	\$58,600.00	\$6,900.00	\$6,900.00
11	Plastic Sheeting	SQYD	100	\$2.00	\$200.00	\$2.25	\$225.00	\$10.30	\$1,030.00
12	Matting, Type C	SQYD	280	\$5.00	\$1,400.00	\$3.50	\$980.00	\$6.35	\$1,778.00
13	Matting, Type E	SQYD	363	\$5.00	\$1,815.00	\$3.50	\$1,270.50	\$5.50	\$1,996.50
14	Compost Erosion Blanket	SQYD	4,812	\$4.00	\$19,248.00	\$3.75	\$18,045.00	\$4.30	\$20,691.60
15	Check Dam, Type 3	EACH	83	\$100.00	\$8,300.00	\$85.00	\$7,055.00	\$150.00	\$12,450.00
16	Sediment Fence	FOOT	245	\$4.00	\$980.00	\$5.00	\$1,225.00	\$5.70	\$1,396.50
17	Inlet Protection, Type 3	EACH	39	\$80.00	\$3,120.00	\$50.00	\$1,950.00	\$130.00	\$5,070.00
18	Inlet Protection, Type 4	EACH	8	\$100.00	\$800.00	\$130.00	\$1,040.00	\$210.00	\$1,680.00
19	Inlet Protection, Type 10	EACH	59	\$80.00	\$4,720.00	\$36.00	\$2,124.00	\$140.00	\$8,260.00
20	Sediment Barrier, Type 3	FOOT	8,494	\$3.00	\$25,482.00	\$3.50	\$29,729.00	\$3.50	\$29,729.00
21	Straw Bales	EACH	10	\$20.00	\$200.00	\$57.00	\$570.00	\$45.00	\$450.00
22	Pollution Control Plan	LS	1	\$500.00	\$500.00	\$500.00	\$500.00	\$1,200.00	\$1,200.00
23	Work Containment Plan And System	LS	1	\$1,500.00	\$1,500.00	\$5,000.00	\$5,000.00	\$3,010.00	\$3,010.00
24	Turbidity Monitoring	LS	1	\$2,000.00	\$2,000.00	\$500.00	\$500.00	\$2,750.00	\$2,750.00
25	Construction Survey Work	LS	1	\$98,212.00	\$98,212.00	\$64,900.00	\$64,900.00	\$105,000.00	\$105,000.00
26	Removal Of Structures And Obstructions	LS	1	\$15,000.00	\$15,000.00	\$37,100.00	\$37,100.00	\$83,255.00	\$83,255.00
27	Clearing And Grubbing	LS	1	\$5,500.00	\$5,500.00	\$18,000.00	\$18,000.00	\$18,935.00	\$18,935.00
28	General Excavation	CUYD	8,500	\$24.00	\$204,000.00	\$20.00	\$170,000.00	\$22.00	\$187,000.00
29	Ditch Excavation	CUYD	35	\$40.00	\$1,400.00	\$40.00	\$1,400.00	\$43.50	\$1,522.50
30	24 Inch Subgrade Stabilization	SQYD	6,000	\$15.00	\$90,000.00	\$33.00	\$198,000.00	\$35.00	\$210,000.00
31	Riprap Geotextile, Type 1	SQYD	120	\$3.00	\$360.00	\$2.00	\$240.00	\$5.00	\$600.00
32	Subgrade Geotextile	SQYD	12,000	\$1.20	\$14,400.00	\$1.00	\$12,000.00	\$2.65	\$31,800.00
33	Loose Riprap, Class 50	CUYD	500	\$50.00	\$25,000.00	\$72.00	\$36,000.00	\$58.50	\$29,250.00
34	Mainline Video Inspection	FOOT	4,720	\$1.00	\$4,720.00	\$2.50	\$11,800.00	\$3.25	\$15,340.00
35	4 Inch Drain Pipe	FOOT	430	\$40.00	\$17,200.00	\$22.00	\$9,460.00	\$26.25	\$11,287.50
36	8 Inch HDPE Sanitary Sewer Force Main Pipe	FOOT	8,950	\$46.00	\$411,700.00	\$78.00	\$698,100.00	\$42.50	\$380,375.00
37	14 Inch HDPE Sanitary Sewer Force Main Pipe	FOOT	9,000	\$88.00	\$792,000.00	\$100.00	\$900,000.00	\$92.50	\$832,500.00
38	8 Inch DI Sanitary Sewer Force Main Pipe	FOOT	150	\$100.00	\$15,000.00	\$144.00	\$21,600.00	\$97.00	\$14,550.00
39	14 Inch DI Sanitary Sewer Force Main Pipe	FOOT	265	\$150.00	\$39,750.00	\$192.00	\$50,880.00	\$179.00	\$47,435.00
40	8 Inch DI Sanitary Sewer Force Main Pipe, Across Bridge	FOOT	130	\$100.00	\$13,000.00	\$123.00	\$15,990.00	\$115.00	\$14,950.00
41	14 Inch DI Sanitary Sewer Force Main Pipe, Across Bridge	FOOT	150	\$150.00	\$22,500.00	\$254.00	\$38,100.00	\$225.00	\$33,750.00
42	18 Inch Sanitary Sewer Pipe, 10 Ft Depth	FOOT	125	\$100.00	\$12,500.00	\$185.00	\$23,125.00	\$145.00	\$18,125.00
43	18 Inch Sanitary Sewer Pipe, 20 Ft Depth	FOOT	150	\$150.00	\$22,500.00	\$253.00	\$37,950.00	\$178.00	\$26,700.00
44	Combination Air Release / Air Vacuum Valve	EACH	4	\$1,200.00	\$4,800.00	\$3,900.00	\$15,600.00	\$5,100.00	\$20,400.00
45	Combination Air Release / Air Vacuum Valve Assembly	EACH	2	\$3,500.00	\$7,000.00	\$11,800.00	\$23,600.00	\$14,555.00	\$29,110.00
46	8 Inch Storm Sewer Pipe, 5 Ft Depth	FOOT	25	\$60.00	\$1,500.00	\$70.00	\$1,750.00	\$38.00	\$950.00
	o inch Storm Sewer ripe, 5 rt Deptin	100		Ψ00.00	Ψ1,500.00	Ψ10.00	Ψ1,100.00	Ψ00.00	Ψ000.00

48	18 Inch Storm Sewer Pipe, 5 Ft Depth	FOOT	775	\$100.00	\$77,500.00	\$90.00	\$69,750.00	\$62.00	\$48,050.00
49	18 Inch Storm Sewer Pipe, 10 Ft Depth	FOOT	2.000	\$100.00	\$230,000.00	\$90.00	\$180.000.00	\$87.25	\$174,500.00
50	24 Inch Storm Sewer Pipe, 10 Ft Depth	FOOT	80	\$160.00	\$12,800.00	\$192.00	\$15,360.00	\$122.00	\$9,760.00
51	36 Inch Sanitary Sewer Pipe, 10 Ft Depth	FOOT	85	\$170.00	\$14,450.00	\$204.00	\$17,340.00	\$194.25	\$16,511.25
52	42 Inch Storm Sewer Pipe, 10 Ft Depth	FOOT	300	\$200.00	\$60,000.00	\$316.00	\$94,800.00	\$153.65	\$46,095.00
53	Pipe Tees, 18 Inch	EACH	1	\$750.00	\$750.00	\$1,015.00	\$1,015.00	\$2,300.00	\$2,300.00
54	Pipe Tees, 24 Inch	EACH	1	\$1,250.00	\$1,250.00	\$930.00	\$930.00	\$850.00	\$850.00
55	12 Inch Force Main Connection to 12 Inch Existing Force Main	LS	1	\$10,000.00	\$10,000.00	\$20,150.00	\$20,150.00	\$21,955.00	\$21,955.00
56	Force Main Manifold Vault Assembly	LS	1	\$85,000.00	\$85,000.00	\$119,285.00	\$119,285.00	\$118,345.00	\$118,345.00
57	14 Inch Flow Meter Valve Vault	LS	1	\$90,000.00	\$90,000.00	\$225,260.00	\$225,260.00	\$198,955.00	\$198,955.00
58	Concrete Sanitary Sewer Manholes, Large Precast 60 Inch	EACH	3	\$9,000.00	\$27,000.00	\$11,375.00	\$34,125.00	\$14,955.00	\$44,865.00
59	Precast Polymer Concrete Manhole, 48 Inch	EACH	1	\$7,500.00	\$7,500.00	\$17,165.00	\$17,165.00	\$6,325.00	\$6,325.00
60	Precast Polymer Concrete Manhole, 60 Inch	EACH	1	\$10,500.00	\$10,500.00	\$17,360.00	\$17,360.00	\$7,800.00	\$7,800.00
61	Concrete Storm Sewer Manholes	EACH	7	\$5,500.00	\$38,500.00	\$3,184.00	\$22,288.00	\$5,625.00	\$39,375.00
62	Concrete Storm Sewer Manholes, Shallow	EACH	1	\$5,500.00	\$5,500.00	\$2,915.00	\$2,915.00	\$4,835.00	\$4,835.00
63	Concrete Storm Sewer Manholes, Large Precast 60 Inch	EACH	1	\$7,500.00	\$7,500.00	\$7,248.00	\$7,248.00	\$8,335.00	\$8,335.00
64	Concrete Storm Sewer Manholes, Large Precast 72 Inch	EACH	6	\$8,500.00	\$51,000.00	\$10,015.00	\$60,090.00	\$9,765.00	\$58,590.00
65	Concrete Storm Sewer Manholes, Large Precast 84 Inch	EACH	2	\$9,750.00	\$19,500.00	\$12,710.00	\$25,420.00	\$11,595.00	\$23,190.00
66	Concrete Manholes, Storm Sewer, Flow Control	EACH	1	\$12,500.00	\$12,500.00	\$16,640.00	\$16,640.00	\$9,945.00	\$9.945.00
67	Concrete Manholes, Storm Sewer, Split Flow Weir	EACH	2	\$9,000.00	\$18,000.00	\$7,970.00	\$15,940.00	\$11,365.00	\$22,730.00
68	Concrete Inlets, Type CG-2	EACH	21	\$2,000.00	\$42,000.00	\$2,680.00	\$56,280.00	\$3,600.00	\$75,600.00
69	Concrete Inlets, Type CG-2 Concrete Inlets, Type CG-3	EACH	23	\$2,500.00	\$57,500.00	\$2,690.00	\$61,870.00	\$3,275.00	\$75,325.00
70	Concrete Inlets, Type D	EACH	4	\$2,500.00	\$10,000.00	\$2,350.00	\$9,400.00	\$2,350.00	\$9,400.00
71	Adjusting Boxes	EACH	11	\$275.00	\$3,025.00	\$150.00	\$1,650.00	\$800.00	\$8,800.00
72	Filling Abandoned Structures	EACH	2	\$1,200.00	\$2,400.00	\$3,150.00	\$6,300.00	\$3,715.00	\$7,430.00
73	Minor Adjustment Of Manholes	EACH	5	\$500.00	\$2,500.00	\$1,100.00	\$5,500.00	\$1,600.00	\$8,000.00
74	Major Adjustment Of Manholes	EACH	2	\$2,000.00	\$4,000.00	\$2,865.00	\$5,730.00	\$4,350.00	\$8,700.00
75	Extra for Manholes Over Existing Sewers	EACH	8	\$500.00	\$4,000.00	\$1,190.00	\$9,520.00	\$7,850.00	\$62,800.00
76	Trench Resurfacing	SQYD	7,150	\$45.00	\$321,750.00	\$25.00	\$178,750.00	\$63.50	\$454,025.00
77	Bridge Removal Work	LS	1	\$23,700.00	\$23,700.00	\$19,200.00	\$19,200.00	\$37,995.00	\$37,995.00
78	Structure Excavation	LS	1	\$5,940.00	\$5,940.00	\$7,055.00	\$7,055.00	\$8,845.00	\$8,845.00
79	Granular Wall Backfill	LS	1	\$3,040.00	\$3,040.00	\$3,240.00	\$3,240.00	\$7,325.00	\$7,325.00
80	Furnish Pile Driving Equipment	LS	1	\$30,000.00	\$30,000.00	\$19,800.00	\$19,800.00	\$18,235.00	\$18,235.00
81	Furnish PP 16 X 0.5 Steel Piles	FOOT	368	\$54.00	\$19,872.00	\$60.00	\$22,080.00	\$71.50	\$26,312.00
82	Drive PP 16 X 0.5 Steel Piles	EACH	16	\$1,200.00	\$19,200.00	\$875.00	\$14,000.00	\$825.00	\$13,200.00
83	Reinforced Pile Tips	EACH	16	\$175.00	\$2,800.00	\$250.00	\$4,000.00	\$208.00	\$3,328.00
84	Reinforcement	LS	1	\$20,125.00	\$20,125.00	\$16,800.00	\$16,800.00	\$24,995.00	\$24,995.00
85	General Structural Concrete, Class 3300	LS	1	\$87,500.00	\$87,500.00	\$59,750.00	\$59,750.00	\$68,835.00	\$68,835.00
86	Reinforced Concrete Bridge End Panels	SQYD	224	\$250.00	\$56,000.00	\$221.00	\$49,504.00	\$295.00	\$66,080.00
87	18 Inch Precast Prestressed Slabs	FOOT	504	\$220.00	\$110,880.00	\$223.00	\$112,392.00	\$210.00	\$105,840.00
88	Structural Steel Utility Brackets	LS	1	\$1,000.00	\$1,000.00	\$5,770.00	\$5,770.00	\$1,855.00	\$1,855.00
89	Combination Bridge Rail	LS	1	\$43,500.00	\$43,500.00	\$27,337.00	\$27,337.00	\$58,900.00	\$58,900.00
90	Bridge Removal Work	LS	1	\$16,380.00	\$16,380.00	\$19,777.00	\$19,777.00	\$24,955.00	\$24,955.00
91	Structure Excavation	LS	1	\$6,360.00	\$6,360.00	\$7,175.00	\$7,175.00	\$13,255.00	\$13,255.00
92	Granular Wall Backfill	LS	1	\$3,800.00	\$3,800.00	\$3,580.00	\$3,580.00	\$10,635.00	\$10,635.00
93	Furnish Drilling Equipment	LS	1	\$40,000.00	\$40,000.00	\$26,200.00	\$26,200.00	\$29,985.00	\$29,985.00
94	Furnish HP 14 X 117 Steel Piles	FOOT	350	\$82.00	\$28,700.00	\$63.00	\$22,050.00	\$66.25	\$23,187.50
95	Cast In Place Piles	EACH	14	\$8,500.00	\$119,000.00	\$6,700.00	\$93,800.00	\$7,450.00	\$104,300.00
96	Reinforcement	LS	1	\$25,900.00	\$25,900.00	\$21,800.00	\$21,800.00	\$18,955.00	\$18,955.00
97	General Structural Concrete, Class 3300	LS	1	\$88,900.00	\$88,900.00	\$60,325.00	\$60,325.00	\$76,235.00	\$76,235.00
98	Reinforced Concrete Bridge End Panels	SQYD	279	\$250.00	\$69,750.00	\$223.00	\$62,217.00	\$230.00	\$64,170.00
99	18 Inch Precast Prestressed Slabs	FOOT	628	\$220.00	\$138,160.00	\$217.00	\$136,276.00	\$230.00	\$135,020.00
100	Structural Steel Utility Brackets	LS	1	\$1,000.00	\$1,000.00	\$5,770.00	\$5,770.00	\$1,865.00	\$1,865.00
101	Combination Bridge Rail	LS	1	\$43,000.00	\$43,000.00	\$27,777.00	\$27,777.00	\$59,235.00	\$59,235.00
102	Retaining Wall, Prefabricated Modular Gravity	LS	1	\$35,750.00	\$35,750.00	\$28,080.00	\$28,080.00	\$27,335.00	\$27,335.00
103	Retaining Wall, Prefabricated Modular Gravity	LS	1	\$39,188.00	\$39,188.00	\$35,340.00	\$35,340.00	\$32,430.00	\$32,430.00
103	Cold Plane Pavement Removal, 0 - 2 Inches Deep	SQYD	9,000	\$1.25	\$11,250.00	\$2.75	\$24,750.00	\$4.25	\$38,250.00
105		TON	12,500	\$25.00	\$312,500.00	\$23.00	\$287,500.00	\$32.00	\$400,000.00
105	Aggregate Base	IUN	12,500	00.6≥φ	ჶ ა 1∠,500.00	⊅∠ 3.00	00.00€, 10≥φ	ჶ 3∠.UU	φ 4 00,000.00

106	Level 3, 1/2 Inch ACP	TON	7,400	\$95.00	\$703,000.00	\$94.00	\$695,600.00	\$94.75	\$701,150.00
107	Level 3, 1/2 Inch ACP In Leveling	TON	610	\$105.00	\$64,050.00	\$90.00	\$54,900.00	\$90.75	\$55,357.50
108	Extra For Asphalt Approaches	EACH	39	\$500.00	\$19,500.00	\$1,100.00	\$42,900.00	\$1,155.00	\$45,045.00
109	Concrete Curbs, Curb And Gutter	FOOT	10,250	\$22.00	\$225,500.00	\$16.50	\$169,125.00	\$15.00	\$153,750.00
110	Concrete Driveways	SQFT	9,300	\$8.75	\$81,375.00	\$7.25	\$67,425.00	\$6.75	\$62,775.00
111	Concrete Walks	SQFT	29,000	\$6.00	\$174,000.00	\$5.00	\$145,000.00	\$4.50	\$130,500.00
112	Monolithic Concrete Walk With Wall	FOOT	35	\$100.00	\$3,500.00	\$205.00	\$7,175.00	\$208.50	\$7,297.50
113	Extra For Curb Ramps	EACH	26	\$2,000.00	\$52,000.00	\$1,400.00	\$36,400.00	\$1,450.00	\$37,700.00
114	Concrete Bus Shelter Pads	EACH	1	\$2,500.00	\$2,500.00	\$2,440.00	\$2,440.00	\$2,650.00	\$2,650.00
115	31 Inch Guardrail, Type 2A	FOOT	75	\$22.00	\$1,650.00	\$50.00	\$3,750.00	\$52.00	\$3,900.00
116	31 Inch Guardrail, Type 3	FOOT	38	\$48.00	\$1,824.00	\$50.00	\$1,900.00	\$52.00	\$1,976.00
117	Guardrail Transition	EACH	3	\$2,500.00	\$7,500.00	\$3,750.00	\$11,250.00	\$3,800.00	\$11,400.00
118	Guardrail Terminals, Non-Flared, Test Level 2	EACH	1	\$2,300.00	\$2,300.00	\$3,500.00	\$3,500.00	\$3,800.00	\$3,800.00
119	Guardrail Terminals, Non-Flared, Test Level 3	EACH	2	\$2,800.00	\$5,600.00	\$4,250.00	\$8,500.00	\$4,300.00	\$8,600.00
120	Impact Attenuator, Type C	EACH	1	\$6,500.00	\$6,500.00	\$17,500.00	\$17,500.00	\$18,255.00	\$18,255.00
121	Impact Attenuator, Type E	EACH	4	\$7,500.00	\$30,000.00	\$21,000.00	\$84,000.00	\$22,000.00	\$88,000.00
122	Longitudinal Pavement Markings - Paint	FOOT	23,000	\$0.12	\$2,760.00	\$0.21	\$4,830.00	\$0.23	\$5,290.00
123	Pavement Legend, Type B: Arrows	EACH	4	\$250.00	\$1,000.00	\$325.00	\$1,300.00	\$350.00	\$1,400.00
124	Pavement Legend, Type B-Hs: Bicycle Lane Stencil	EACH	11	\$250.00	\$2,750.00	\$300.00	\$3,300.00	\$315.00	\$3,465.00
125	Pavement Bar, Type B-Hs	SQFT	350	\$9.00	\$3,150.00	\$8.35	\$2,922.50	\$8.50	\$2,975.00
126	Remove And Reinstall Existing Signs	LS	1	\$15,000.00	\$15,000.00	\$1,500.00	\$1,500.00	\$2,650.00	\$2,650.00
127	Perforated Steel Square Tube Anchor Sign Supports	LS	1	\$20,000.00	\$20,000.00	\$1,000.00	\$1,000.00	\$3,100.00	\$3,100.00
128	Signs, Standard Sheeting, Sheet Aluminum	SQFT	35	\$25.00	\$875.00	\$25.00	\$875.00	\$25.00	\$875.00
129	Flashing Beacon Installation, Pleasant Ave	LS	1	\$15,000.00	\$15,000.00	\$25,000.00	\$25,000.00	\$30,000.00	\$30,000.00
130	Biodetention Basin, 99-A	LS	1	\$7,500.00	\$7,500.00	\$9,400.00	\$9,400.00	\$22,335.00	\$22,335.00
131	Biodetention Basin, Strauss	LS	1	\$15,000.00	\$15,000.00	\$15,310.00	\$15,310.00	\$43,255.00	\$43,255.00
132	Water Quality Swale, 99-A	LS	1	\$12,000.00	\$12,000.00	\$10,155.00	\$10,155.00	\$26,955.00	\$26,955.00
133	Water Quality Structure, 48 Inch Storm Filter Manhole	LS	1	\$20,000.00	\$20,000.00	\$25,500.00	\$25,500.00	\$31,255.00	\$31,255.00
134	Water Quality Structure, 72 Inch Storm Filter Manhole	LS	1	\$27,000.00	\$27,000.00	\$47,264.00	\$47,264.00	\$49,755.00	\$49,755.00
135	Water Wuality Structure, 96 Inch Storm Filter Manhole	LS	1	\$38,000.00	\$38,000.00	\$73,878.00	\$73,878.00	\$68,235.00	\$68,235.00
136	Water quality Structure, 8' X 11' Storm Filter Peak Diversion Vault	LS	1	\$50,000.00	\$50,000.00	\$85,134.00	\$85,134.00	\$76,455.00	\$76,455.00
137	Water Quality Structure, Contech CDS Model Number CDS2015-	LS	1	\$11,000.00	\$11,000.00	\$14,799.00	\$14,799.00	\$14,955.00	\$14,955.00
138	Permanent Seeding, Mix No. 1	ACRE	1	\$6,000.00	\$4,800.00	\$3,000.00	\$2,400.00	\$4,300.00	\$3,440.00
139	Permanent Seeding, Mix No. 2	ACRE	0	\$8,000.00	\$560.00	\$14,000.00	\$980.00	\$12,235.00	\$856.45
140	Topsoil	CUYD	50	\$60.00	\$3,000.00	\$65.00	\$3,250.00	\$66.00	\$3,300.00
141	Plant Cuttings, Less Than 1 Inch	EACH	416	\$10.00	\$4,160.00	\$3.00	\$1,248.00	\$6.75	\$2,808.00
142	Type CL-4 Chain Link Fence	FOOT	280	\$22.00	\$6,160.00	\$45.00	\$12,600.00	\$43.00	\$12,040.00
143	Type CL-6 Chain Link Fence	FOOT	430	\$28.00	\$12,040.00	\$30.00	\$12,900.00	\$25.00	\$10,750.00
144	28 Foot X 96 Inch Double Gates	EACH	2	\$1,750.00	\$3,500.00	\$3,800.00	\$7,600.00	\$3,600.00	\$7,200.00
145	Multiple Mailbox Supports	EACH	4	\$2,000.00	\$8,000.00	\$350.00	\$1,400.00	\$550.00	\$2,200.00
146	Streambed Enhancement	LS	1	\$60,000.00	\$60,000.00	\$55,490.00	\$55,490.00	\$65,255.00	\$65,255.00
147	Remove and Relocate Bus Shelter	EACH	1	\$5,000.00	\$5,000.00	\$650.00	\$650.00	\$3,750.00	\$3,750.00
147 Remove and Relocate Bus Shelter EACH 1 \$5,000.00 \$55,000.00 \$650.00 \$53,750.00 \$ TOTAL = \$7,429,675.00 TOTAL = \$8,107,685.00 TOTAL = \$									